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1. BE2/KEDIP-GX ¢ 350



DIP-GX ¢ 350mmEcKERRTLT KEFHES

kSt BE e LY LY 1.20m~1.64m NO. 17
E 4 R
TIiE £ & BRTZE B # 8| Bk B _Z
SIEE-NEE/ILZIL
H# GXTe 4994 NEE8E ¢ 350 x 6,000 X 37| 6.000 6000 x (28 9) = 222.000
1EE-NEELZIL
GXT 4994 0NEE8E ¢ 350 X 6,000 A 19 DERELY = 104619 YIEHA
GXl; —2TFE @ 350 X ¢ 250 & 1] 0.750 0.750 X 1 = 0.750
GXFz 45° & ¢ 350 x 45° & 15| 0615 0615 x (11 4) = 9.225
GXTiz 221/2° @h%E ¢ 350 x 221/2° & 12| 0.490 0490 x (8 4) = 5.880
GXFZ 111/4° g% $350%111/4° & 5/ 0410 0410 x (4 1) = 2.050
GXF 55/8° HiE ¢ 350 X 55/8° & 8| 0.380 0380 x (6 2) = 3.040
GXTZ 45° WZEhE ¢ 350 x 45° & 4| 0310 0310 x (3 1) = 1.240
GXT 221/2° WZE%E | ¢$350x221/2° & 8| 0.190 0190 x (6 2) = 1.520
GXfz 770V R TFE $350 % ¢ 75 & 5| 0.460 0460 x (3 2) = 2.300
GX#z 7730V TFE EZEZTES
CHMRERE) $350% 75 1@ (1)| 0.460 0460 x (1 = 0.460 | ;5 ki TE L
GXW BEKTFE ® 350 X ¢ 150 & 0.350 0.350 X =
GXE BmZEE ¢ 350 & 2| 0.020 0.020 x 2 = 0.040
GX%! 1§ ¢ 350 & =
GX&!
mEYIMN -V F @ 350 = 1| 0.460 0.460 X 1 = 0.460
SUS304BN- 1" Ll - Ik 2 W
GXE EMEREEHSR ¢ 350 #8 77 47 30
S4F
GXE EEH& ¢ 350 & 33| 0.056 0056 X (25 8) = 1.848
MERELOYLY
GXE EEH& ¢ 350 #H 34 VERELY 34
EEER = 355432 |m
A-TR B EER
FYIFLYRY-7 ¢ 350/ m 497.6 355432 x {70 (1 + 02) 60} = 497605
18 1B R EER-1 EER
[ERIAVIN ¢ 350 #8 652 355432 x {4 15) + 50) 60l = 651.600
BFRER To# EIF SHAEE
HRRT—T W=50 m 353.1 355.432 —  0.460 1.380 —  0.460 = 353.132
FTEER To# EIF SHAEE
BERAEE S —b W=150 2% m 351.9 354.172 —  0.460 1380 —  0.460 = 351872
b75-7750Y '
REELS RS EIMAR-75K | & 3 2+ 1 = 3
¢ 75-H150-7.5K - iz =2
F-VEBESR FCD | RS ERA -S| @ 3 2+ 1 = 3
75K fiz=2
FISUUHEE ¢ 75 X 400L & 3 2+ 1 = 3
ATULAAY ¢ 75-GFRZh Ao
170V FM SUS304BN-7.5K | #A 9 6 + 3 = 9
WERAI Y BEHBEE 75 & 3 2+ 1 = 3




DIP-GX ¢ 350mmEKET

BT MEHES

sl B EReSEY T #HY:1.20m~1.64m NO, 71
E 4 R
TIiE £ & BRI ZE B H 8| Bk 1w _Z
H# HUHRAN%E ¢ 350 , H=150 & 1 1
Tt#HA 350
LY k')A L& H=150 & 1 1
TUIsH ¢ 350
LY k')A T# H=300 & 1 1
TUIsH ¢ 450
LY k')A KA (F#Z) H=40 | @ 1 1
500
ERFAKE MR35 4 3 2+ 1
K& 500
LY k')A L& H=200 & 3 2+ 1
K& 500
LY k')A & H=300 & 6 4 + 2
K& 500
LY k')A T# H=300 & 3 2+ 1
K& 500
LY k')A KA (F#Z) H=40 | @ 3 2 + 1




DIP-GX ¢ 350mmEKETRRTLT HEFHES

kSt BE e LY LY 1.20m~1.64m NO. 17
E 4 R
TIiE £ & BRTZE S H & B _Z
FE €FEomm|
TUH
BHERAREMRT HEGXE! ¢ 350 m | 3550355432 — 0.460 = 354972
EEES BE
GX® #FT ¢ 350 A 56 56 = 56
EREEs
GXE #FT ¢ 350 A 77 77 = 77
ayErRCR UERELY
GXE #MFHOMT ¢ 350 m] =
UERELY
BT VT ¢ 350 a =
UERELY
HHE VEEUT ¢ 350 m] 34 34 = 34
TUHHZET ¢ 350 = 2 2 = 2
G715 770V
ERAZEL RS ERIA-THK | H 3 3 = 3
7.5K ERT m} FRE - #WEHR - FETF
ISV HFL 75 m] 6] 3 x 2 wWER - FEE - FHTE = 6
B/ R
FYIFLVA-7 BT ¢ 350 m 4976 EMHE LY = 497.605
ERRT—IL W=50 m 353.1 | BEMHELY = 353132
HEAEE— W=150 24& m 351.9| BEH# LY = 351872
BKEHERT BEER B m 355.4| 355.432 = 355.432
[#EFT]
500
ERFAKERGT A#3E #H 3 3 = 3
KEMA ¢ 500
LY Uk ) ABA T L& H=200 & 3 3 = 3
KEMR ¢ 500
LY Uk ) ABA T FE8 H=300 & 6 6 = 6
EXFHA ¢ 500
LY Uk ) ABA T £8 H=300 & 3 3 = 3
KEMA ¢ 500
LY Uk AR T JEER (AfZ) H=40 | & 3 3 = 3
(BT
YRS ¢ 350, H=150 #H 1 1 = 1
[snIFC 0z ¢ 350
LY Uk'y)R L& H=150 [E] 1 1 = 1
[snIFC 0z ¢ 350
LY Uk'y)R T# H=300 [E] 1 1 = 1
[snIFC 0z ¢ 450
LY Uk'y)R EER(M#fz) H=40 | & 1 1 = 1




DIP-GX ¢ 350mmEKETRRTLT HEFHES

kSt BE e LY LY 1.20m~1.64m NO. 17
E 4 R
I £ & BHTE H % 8 B %
FE (1)
(B ER DIP-GX ¢ 350
fEEI £ TO-1 B EE,d=1.20 m | 2521 8.8 640 + 1103 + 585 + 60 + 45 252.1
(B ER DIP-GX ¢ 350
HEElIETD-2 HEEE =164 | m 12.3 44 39 + 40 123
(B ER DIP-GX ¢ 350
Al TD-3 HEEE =142 | m 104 104 10.4
GX ¢ 350+HPPE ¢ 50 R
EEIET@-1 B EE,4=1.20,070] m 738 197 54.1 738| 1B
GX ¢ 350+HPPE ¢ 75 HEHEIRS
EEIELT@-2 B EE,d=1.20,0.70| m 1%
GX ¢ 350+HPPE ¢ 50 R
EELT@-3 TOEEE,d=1.64,1.42] m 5.5 5.5 55| 1B
GX ¢ 350+HPPE ¢ 75 R
EHIELT@-4 B EE d=1.39, 1.37| m 1%
[BE®LET)
LSP-2% W=250 14.8kg/m
BEMXIRIZTAAT KiRE{E2.0m m | 3363 252.1 104 + 738 + 336.3
LSP-2%&! W=250
BEMXIRIZTAAT KiRE2.5m m 178 123 55 17.8
LSP-2%&! W=250
BEMXIRERT EiRE2.0m m | 3363 336.3
LSP-2%&! W=250
BEMERIIRT EHE2.5m m 17.8 17.8
BESLE 1B YRE
FREMEE -HE PEHIR2.0mK i m 336.3 336.3| 900~ 1500mm
BRELRE 2% "
XIEMEEE - HE FREIER20mBE | m 178 17.8 "




T I % B * i =
No. 1 NO.1__F*T1 | N0.2 FT(2 ] NO.3_F*T®3 | NO.4_*T@1 | NO.b FT@2 ] N0.6 TIP3 | NO.7 _FETD4
350mmDIPECK & 252. 1 “ERE L 12.3 “ERE L 10.4 “ERE L 73.8 “ER L “ERE L 5.5 “ERE L “ERE L =BT A
SER L SER L SER L SER L SER L SER L SER L =BT
& i iR % & & BEHE

AsEfiZE 2.00 504. 20 2.00 24. 60 2.00 20. 80 2.00 147. 60 2.00 11.00 708. 20 ) 710 )

I T t=15cmLF m
AsEizE 0.95 239.50 0.95 11. 69 0.95 9.88 1.30 95.94 1.30 7.15 364.16 ) 364 )

SRERRERT  [t=10cmA T m2
BHO. 28m3 1.44 363. 02 1.65 20. 30 1.65 17.16 1.70 125. 46 2.37 13. 04 538.98 ) 540 )

AR YE T Myt m3
BHO. 28m3 0.43 108. 40 0.43 5.29 0.43 4.47 1.01 74.54 0.74 4.07 196.77 ) 200 )
HWERT BAL m3 ) :

BRIV -+ o ck=18N/mm2 m3
) )

BRIV - I | EGEEY m2
(RC-30) ) )

HEEBRAERE [t=10cm m2
BHO. 28m3 0.7 178.99 0.92 11.32 0.92 9.57 0.33 24.35 1.26 6.93 231.16 ) 230 )

HWERT FEL m3
(RC-30) 0.95 239.50 0.95 11. 69 0.95 9.88 1.30 95.94 1.30 7.15 364.16 ) 364 )

TrERET t=10cm m2
(RM-30) 0.95 239.50 0.95 11. 69 0.95 9.88 1.30 95.94 1.30 7.15 364.16 ) 364 )

LB T t=12cm m2
BAEZH As13mm 0.95 239.50 0.95 11. 69 0.95 9.88 1.30 95.94 1.30 7.15 364.16 ) 364 )

ERE{REIR t=3cm m2
RitunT 0.65 163. 87 0.63 1.75 0.63 6.55 1.33 98.15 0.97 5.34 281.66 ) 280 )

(£#) 4tDT m3
BRitunT 0.05 12. 61 0.05 0.62 0.05 0.52 0.07 5.17 0.07 0.39 19.31) 19)

(AS) 41DT m3
ZAE 0.12 30. 25 0.12 1.48 0.12 1.25 0.16 11. 81 0.16 0.88 45.67) 45.7)

ASH% t
0.95 239.50 0.95 11. 69 0.95 9.88 1.30 95.94 1.30 7.15 364.16 ) 364 )

R 18 EEE m2

SRk E




T T % E fH B &
No,1-1
Wiz &S = (D-1 DIP$350 L= 2521 m
Wi 7 = raE#E,d=1.20 (- THY)
EHEE = 0370 X 0370 X x / 4 = 0108
B = x X x / 4 =
Vi =/
% B T ol = o & =
AHEELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
IR T
AsETEEK t=10cmid T 1.00 X 0.95 = m2 0.95
el 1. BHO.28m3
Wb E A - FEE A 1.00 X 0.95 X( 1.57 — 0.05 )= m3 1.44
MR T, BHO.28m3
SN A £ 1.00 X ( 0.95 X 0.57 — 0.108)= m3 0.43
PR T, BHO.28m3
SN FEA - 1.00 X 0.95 X 0.75 = m3 0.71
TERSAE T (RC-30)
t=10cm 1.00 X 0.95 = m2 0.95
/@B T (RM-30)
t=12cm 1.00 X 0.95 = m2 0.95
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.95 = m2 0.95
T4 AT DT AL WAL
FEAS 14 1.44 —( 0.71 = 0.90 )= m3 0.65
FEL AT ADT
FEAB TRT7 /PR 1.00 X 0.95 X 0.05 = m3 0.05
ZNE
TAT7 W 0.05 X 235 = ¢ 0.12




T T % E fH B &
No,1-2
Wrig &S = D-2 DIP$350 L= 12.3 m
Wi 7r = rE#E,d=1.64 (- THY)
EHEE = 0370 X 0370 X x / 4 = 0108
B = x X x / 4 =
Vi =/
% B T ol = o & =
AHEELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
IR T
AsETEEK t=10cmid T 1.00 X 0.95 = m2 0.95
el 1. BHO.28m3
Wb E A - FEE A 1.00 X 0.95 X( 2.01 — 0.05 )= m3 1.86
MR T, BHO.28m3
SN A £ 1.00 X ( 0.95 X 0.57 — 0.108)= m3 0.43
PR T, BHO.28m3
SN FEA - 1.00 X 0.95 X 1.19 = m3 1.13
TERSAE T (RC-30)
t=10cm 1.00 X 0.95 = m2 0.95
/@B T (RM-30)
t=12cm 1.00 X 0.95 = m2 0.95
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.95 = m2 0.95
T4 AT DT AL WAL
FEAS 14 1.86 —( 1.13 = 0.90 )= m3 0.60
FEL AT ADT
FEAB TRT7 /PR 1.00 X 0.95 X 0.05 = m3 0.05
ZNE
TAT7 W 0.05 X 235 = ¢ 0.12




T I % E HH E E
No,1-3
WrigiEs =  (D-3 DIP$350 L= 104 m
Wrigrd 7y = drE e, d=1.42 (1 1THD)
R = 0370 X 0370 X x /4 = 0108
B = x X x / 4 =
Vi =/
% B T ol = o & =
AAECIT T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
IR T
AsETEEK t=10cmid T 1.00 X 0.95 = m2 0.95
S fi . BHO.28m3
Wb D A FEE A 1.00 X 0.95 X( 1.79 — 0.05 )= m3 1.65
MR T, BHO.28m3
S NI AL 1.00 X ( 0.95 X 0.57 — 0.108)= m3 0.43
PR T, BHO.28m3
SIS A 1.00 X 0.95 X 0.97 = m3 0.92
TERSAE T (RC-30)
t=10cm 1.00 X 0.95 = m2 0.95
LR T (RM-50)
t=12cm 1.00 X 0.95 = m2 0.95
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.95 = m2 0.95
AT DT AL WAL
RS |- 1.65 —( 0.92 = 0.90 )= m3 0.63
FEL AT ADT
FEARS TRT 7N 1.00 X 0.95 X 0.05 = m3 0.05
ZNE
TAT 7P 0.05 X 235 = ¢ 0.12




T I % E HH E E
HPPE $ 50 No, 1-4
WA =  @D-1 PIP$350 [= 73.8 m
Brig 5 7 = 7B #E, d=1.20 ,0.70
B R = 0370 X 0370 X x / = 0.108
R = 0060 X 0.060 X / = 0.003
F 0.111 1m>40
% B T ol = o & =
AAECIT T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
IR T
AsETEEK t=10cmid T 1.00 X 1.30 = m2 1.30
S fi . BHO.28m3 1.00 X{0.965 X ( 1.57 — 0.05 )
Wb E A - FEE A + 0.335 X( 0.76 — 0.05 )} = m3 1.70
R 1. BHO.28m3 1.00 X(0.965 X 1.07
S NI AL + 0.335 X 0.26 — 0.111)= m3 1.01
PR T, BHO.28m3
SN T A 1.00 X 1.30 X 0.25 = m3 0.33
TERSAE T (RC-30)
t=10cm 1.00 X 1.30 = m2 1.30
LR T (RM-50)
t=12cm 1.00 X 1.30 = m2 1.30
PBEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 1.30 = m2 1.30
AT DT A+ Wt
RS |- 1.70 —( 0.33 = 0.90 )= m3 1.33
FH AL T 4DT
FEAS TR 1.00 X 1.30 X 0.05 = m3 0.07
N
TRk 0.07 X 235 = ¢ 0.16




T I % E HH E E
HPPE $ 50 No,1-6
WrigiFEE = (D-3 TPIP$350 [= 55 m
Brig 5 7 = T o, d=1.64 ,1.42
B R = 0370 X 0370 X x / = 0.108
R = 0060 X 0.060 X / = 0.003
F 0.111 1m>40
% B T ol = o & =
AAECIT T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
LR L
AsETEEK t=10cmid T 1.00 X 1.30 = m2 1.30
I 1. BHO.28m3 1.00 X{0.965 X( 2.0 — 0.05 )
Wb E A - FEE A + 0.335 X( 1.48 — 0.05 )} = m3 2.37
R 1. BHO.28m3 1.00 x(0.965 X 0.79
SNFFIED FEA AL + 0.335 X 0.26 — 0.111)= m3 0.74
PR T, BHO.28m3
SN T A 1.00 X 1.30 X 0.97 = m3 1.26
TERSAE T (RC-30)
t=10cm 1.00 X 1.30 = m2 1.30
LR T (RM-50)
t=12cm 1.00 X 1.30 = m2 1.30
PBEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 1.30 = m2 1.30
AT DT A+ Wt
AL A4 237 —( 1.26 + 0.90 )= m3 0.97
FH AL T 4DT
FEAS TR 1.00 X 1.30 X 0.05 = m3 0.07
N
TRk 0.07 X 235 = ¢ 0.16




[E# - xX] DIP-GX¢ 350 UIEFREF

BEmS - o hE SR FYE = 0.97m Y = 1.01m

o & - w | D i | LD

B B & 5 5 5wk E 5| B LT
GX . 940 11 GX . 600 5. 540 0. 460 2 2
GX . 600 10 GX . 250 5. 850 0. 150 2 2
GX . 280 1 GX . 590 5. 870 0.130 2 2
GX . 660 12 GX . 860 5.520 0. 480 2 2
GX . 915 4 GX . 814 5.729 0.271 2 2
GX . 020 5.020 0. 980 1 1
GX . 730 2 GX . 000 5.730 0.270 2 2
GX . 060 5. 060 0. 940 1 1
GX . 354 3 GX . 150 5.504 0. 496 2 2
GX . 250 5 GX . 444 5. 694 0. 306 2 2
GX . 740 6 GX . 530 5.270 0. 730 2 2
GX . 250 8 GX . 314 5. 564 0. 436 2 2
12 N 66. 351| 5.649 22 22




[EFE - 2] DIP-GX¢ 350 I EFRE
BEHS - RANUIEHE Y& = 0.97m Y = 1.01m
oy g z &
EE R KB IR BRE I BE | OBR E ZFEF BR E B EF BR E &

@ GX 4. 950 4. 950 1. 050 1 1
GX 3. 120 7 GX 2. 650 5.770 0. 230 2 2
@ GX 4. 250 14 GX 1. 326 5.576 0.424 2 2
GX 5. 380 5. 380 0.620 1 1
@ GX 4. 260 13 GX 1.624 5. 884 0.116 2 2
GX 3.944 15 GX 1.010 4. 954 1. 046 2 2
GX 2. 500 9 GX 3. 254 5. 754 0. 246 2 2
7 38.268| 3.732[ 12 12

& BE® [DIP-GX, ¢350, 1fE%] L = 6,000 19 =& 104.619| 9.381| 34 34




2. B/K & DIP-GX ¢ 200



DIP-GX ¢ 200mmEKERRTL KEFHES

T EH B EEE S LUK 080m~125m NO. 2
\ E 4 R
I/ £ _# BRTZE S| # 8 Bk 1w _Z
SEE - NEMAZE
H# | GXHE FHruEE ¢ 200 x 5,000 P 2 PIERLY = 6.037| YIEA
0.265 0265 X 1 = 0.265| (135%k)
GXl, —Z2TF%E ¢ 350 x ¢ 250 & (1) ¥ ¢ 350TEtE
0.170 0170 x 2 = 0.340
GXF, —2TFE ® 200 x ¢ 200 & 2/0.640 0.640 X 2 = 1.280
GXf; BLZAEE ® 250 X ¢ 200 & 1]0.440 0440 X 1 = 0.440
GX#iz 90° ghiE ¢ 200 x 90° & 1]0.750 0.750 X 1 = 0.750
GXFz 45° & @200 x 45° & 1]0.530 0530 X 1 = 0.530
GXTiz 221/2° @h%E ¢$ 200 % 221/2° & 3/0.450 0.450 x 3 = 1.350
GXFs 221/2° WSEHE| $200%221/2° & 1[0.160 0160 X 1 = 0.160
GXE iR ¢ 200 & 2/0.250 0250 X 2 = 0.500
GX® EE1S ¢ 200 & 210.090 0.090 x 2 = 0.180
GX® EE25 ¢ 200 & 1]0.410 0410 x 1 = 0.410
GXE ZiEYIN-MEFH ¢ 200 = 1]0.610 0610 X 1 = 0.610
ISR YN -MEI R ¢ 200 = 1/0.300 0.300 X 1 = 0.300
GX5 954 VAN 1=k | SUS304BN - TAM S &
G—Link ¢ 200 ficl 10 10 = 10
SUS304BN- 1" L#f - ¥R EREZO  G-Llink
GXE EMRERESHS ¢ 200 | 9 19— 10 = 9
SUS304BN- 1" Ll - Ik EpEzn
GXE EMEREEHSR ¢ 250 #8 1 1 = 1
S4F
GXE EEH& ¢ 200 #8 2/0.039 0039 x 2 = 0.078
¢ 200+ GFzh" A4y b
170V FM SUS304BN-75K | #H 3 3 = 3
(Y7b-MF4) (HBHER)
TP BETFE @250 X ¢ 200 #8 1]0.505 0505 X 1 = 0.505
(Y7b-MF4) (HBHER)
TP BETFE ¢ 200 x ¢ 200 #H 1/0.445 0.445 X 1 = 0.445
(HBHER)
THIKE S LT F ¢ 250 = 1 1 = 1
(HBHER)
THIKE S LT F ¢ 200 = 1 1 = 1
FHZhIVy 3 UK BB ¢ 250 & 1 1 = 1
FHZhIVy 3 UK BB ¢ 200 & 1 1 = 1
REERE = 14.180
A-TR b TEX EEER
KYIFLYRY=7" ¢ 200F m 20.4 14180 x{ 6.0 1 + 02 50) = 20419
100m%Y
#ET—7 ¢ 2008 m 148 14180 X 1040 100 = 14.747
T To#
HERRT—T W=50 m 13.3 14180 -  0.610 0.300 = 13.270
FTEER To# To#
BERAEE S —b W=150 2% m 13.0 13.958 - 0610 0.300 = 13.048
¢ 250 T
YRS C18xRIHK #H 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR L& H=150 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR FfEE H=300 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR £8 H=300 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR EER(M#Z) H=40 | & 1 1 = 1




DIP-GX ¢ 200mmEKETRRT HEFHES

el B ERe LY T #Y:0.80m~1.25m NO. 2
E 4 R
I7E £ & BHTE H % 8 %
FE [#E#T]
ToH ToH
BHERAREMRT HEGXE! ¢ 200 m 13.3]14.180 — 0610 — 0.300 13.270
EEES
GXFz ##F T ¢ 200 (=170 2| 2 2
BEREEs EREEENS
GXE! #FT ¢ 200 [m] 9, 9 9
BEREES EREEENS
GXE! #FT ¢ 250 [m] 1 1 1
BENREG-LinkiES G-Link
GXE! #FT ¢ 200 [m] 10/ 10 10
7.5K
ISVCHMFT ¢ 200 [m] 3 3 3
(B8R E L YIS 44 (BHER)
B K 53 ISt 4R T ¢ 250 x 200 # 11 1
(B8R E DL YIS 144 (BBHER)
THIK D IR ER T ¢ 200 x 200 A 1 1 1
YERLY
BN YT @200 [m] 717 7
HUHHZET ¢ 200 = 2] 2 2
THIKBE S LEF HHSER
BREL ¢ 250 &R 1 1
THIKBE S LEF HHSER
BRETL ¢ 200 & Fr 1 1 1
&g
ANZHILMFT ¢ 200 [m] 1 1 1
&g
AN=HILBFET ¢ 250 [m] 1 1 1
HiET—T
RYIFLVAY-THEBET ¢ 200 m 20| EMFEY 20.419
HRRT—IT W=50 m 133 EME LY 13.270
BERAEE S —b W=150 21% m 13.0 E# &Y 13.048
EKEHERT BEER B kiR m 142 EME LY 14.180
[{ET]
¢ 250 T
Y FRASEREAGT C18xRIHK #H 1 1 1
[snIFC 0z ¢ 250
BETSRAFyHE L& H=150 [E] 1 1 1
[snIFC 0z ¢ 250
LY Uk ) RBR T FfEE H=300 & 1 1 1
[snIFC 0z ¢ 250
LY Uk ) ABR T T& H=300 [E] 1 1 1
[snIFC 0z ¢ 250
LY Uk )RR T JEER (AfZ) H=40 | & 1 1 1




DIP-GX ¢ 200mmEKETRRT HEFHES

el B ERe LY T #Y:0.80m~1.25m NO. 2
E 4 R
TIiE £ & BRTZE S H & 1w _Z
FE (1)
DIP-GX ¢ 200
EEIETR-1 B EE,d=0.8 m 37| 37 3.7
DIP-GX ¢ 200
Al TR-2 B EE,d=1.0 m 32| 32 3.2
DIP-GX ¢ 200
EEILTR-3 HEHEE,d=1.25 | m 32| 32 3.2
250 X ¢ 200
THIKDIRTFE B EEAsd=08 | m 12| 12 12
$ 200 X ¢ 200
THIKDETFE TEHEEAsd=10 | m 12] 1.2 12| 8T
¢ 250 +8T
THIKAE L) F+@)-2 TEEEAsd=08 | m 12 12 1.2| ERBHECO
¢ 200 +8T
THIKAE L) F+®)-3 TEEEAsd=10 | m 12 12 1.2| ERBHECO
[ERLEBT]
LSP-2% W=250 14.8kg/m
B2 MXRI-TAAT EHRE2.0m m 24 1.2 1.2+ + 24
LSP-2%! wW=250
BEMXIRIZTAAT KiRE2.5m m 12] 12 1.2
LSP-2%! wW=250
B2 MXIRERT EHRE2.0m m 24| 24 24
LSP-2%! wW=250
B2 MXIRERT EHE2.5m m 1.2] 1.2 1.2
BEtRE 1K
XIEMEBE - HE {EHIE=2.0m m 24| 24 24
BELRE 1B
XIEMEBE - HE {EHIE=25m m 1.2] 1.2 12
¢ 250
%3 h#Eav)—+T N = 18FF
MEBE
avyl)—k 8 ck=18N/mm2 m3 3.6/ (1150 1.400 02702 X w/4) X 115 3571
ERRA RC-30 t=10cm m2 4[1.350 1.350 3645
iy EEHEED m2 61.150 1.400 2+ (1150 x  1.400
027072 x m/4) 6.325
¢ 200
fFEga>9)—rT N = 187
avyl)—k 8 ck=18N/mm2 m3 2.2|( 1200 0.800 02202 X w/4) X 120 2213
ERRA RC-30 t=10cm m2 4/1.400 1.400 3920
iy EEHEED m2 4/1.200 0.800 2+ (1200 x 0.800
022072 x m/4) 3764




T I B B % M =
No. 2 NO. 1 ) 0.2 TTR-1 NO. 3 +T®R-2 NO. 4 +T®-3 NO. 5 +TR-4 NO.6  ASBfrsk Sk [NO. 7 B K 7308 [NO. 8 +T®-2 [NO.9 +I®-3
200mmDIPEEA & R L 3.7 SiER L 3.2 SR L 3.2 SiER L R L 1.2 SiER L 1.2 SR L 1.2 SER L 1.2 R L
SRR L SER L SRR L SHER L SfER L SHER L SfER L SHER L SR L
£ i 3] & ¢ 250 x 200 ¢ 350 x 200 & 3 HERE

AsEaZEhR 2.00 1.40 2.00 6. 40 2.00 6.46 2.00 2.40 2.00 2.40 2.00 2.30 2.00 2.30 29.66 ) 30)

HFEUIM T t=15cmLL T m
AsEaZEhi 0.60 2.22 0. 60 1.92 0. 60 1.94 1.20 1.44 1.20 1.44 1.35 1.55 1.40 1.61 12.12) 12)

SHERRIEET  |t=10cmLlF m2
BHO. 28m3 0.58 2.15 0.70 2.24 0.85 2.75 1.65 1.98 1.79 2.15 2.55 2.93 2.29 2.63 16.83) 20)

AR YE T gt Juk]
BHO. 28m3 0.21 0.78 0.21 0.67 0.21 0. 68 0.99 1.19 0.95 1.14 4.46) 4)

HIERT BAL Juk]
1.50 1.73 1.08 1.24 2.97) 3)

IBRIV)-b o ck=18N/mm2 m3
2.80 3.22 1.60 1.84 5.06 ) 5)

BRI - R | BEGEEY m2)
(RC-30) 1.35 1.55 1.40 1.61 3.16) 3)

EHERHBAER  |[t=10cm m2
BHO. 28m3 0.21 0.78 0.33 1.06 0.48 1.55 0.42 0.50 0. 66 0.79 0. 65 0.75 0.79 0.91 6.34) 10)

HIERT FETL Juk]
(RC-30) 0. 60 2.22 0. 60 1.92 0. 60 1.94 1.20 1.44 1.20 1.44 1.35 1.55 1.40 1.61 12.12) 12)

TRERET t=10cm m2
(RM-30) 0. 60 2.22 0. 60 1.92 0. 60 1.94 1.20 1.44 1.20 1.44 1.35 1.55 1.40 1.61 12.12) 12)

LT t=12cm m2)
BAEZHLAs13mm 0.60 2.22 0. 60 1.92 0. 60 1.94 1.20 1.44 1.20 1.44 1.35 1.55 1.40 1.61 12.12) 12)

BRE{REIR t=3cm m2
EIunT 0.35 1.30 0.33 1.06 0.32 1.03 1.18 1.42 1.06 1.27 1.05 1.21 0.73 0.84 8.13) 10)

(E8) 4tDT m3
EIunT 0.03 0.11 0.03 0.10 0.03 0.10 0. 06 0.07 0. 06 0.07 0.07 0.08 0.07 0.08 0.61) 1)

(AS) 4tDT m3|
2ZAE 0.07 0.26 0.07 0.22 0.07 0.23 0.14 0.17 0.14 0.17 0.16 0.18 0.16 0.18 1.41) 1.4)

AST% t
0. 60 2.22 0. 60 1.92 0. 60 1.94 1.20 1.44 1.20 1.44 1.35 1.55 1.40 1.61 12.12) 12)

BRE{REIR HEEE m2)

SRk




T I % E i HE £
No,2-2
Wrig ks =  (@-1 DIP200 L= 3.7 m
Brigr £ = I #aEAs,d=0.80
R = 0220 X 0220 X 1 / = 0.038
HEHEE = X X / =
Vi =/
% B T ol = o & =
SAELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHAEIRERE L
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wi A FEE A 1.00 X 0.60 X( 1.02 — 0.05 )= m3 0.58
MR T, BHO.28m3
LN A - 1.00 X ( 0.60 X 0.42 — 0.038)= m3 0.21
PR T, BHO.28m3
SN FEA A 1.00 X 0.60 X 0.35 = m3 0.21
FE BT (RC-50)
t=10cm 1.00 X 0.60 = m2 0.60
/@B T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
T4 AT DT AL WAL
FHAA i 0.58 —( 0.21 +— 0.90 )= m3 0.35
FEL AT ADT
FEARB TR/ b 1.00 X 0.60 X 0.0b = m3 0.03
ZNE
T AT 7/ bk 0.03 X 2.35 = t 0.07




T I % E i HE £
No,2-3
Wiz &S =  @-2 DIP200 L= 3.2 m
Brigr& B = il H#aEAs,d=1.00
R = 0220 X 0220 X 1 / = 0.038
HEHEE = X X / =
Vi =/
% B T ol = o & =
SAELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHAEIRERE L
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wi A FEE A 1.00 X 0.60 X ( 1.22 — 0.05 )= m3 0.70
MR T, BHO.28m3
LN A - 1.00 X ( 0.60 X 0.42 — 0.038)= m3 0.21
PR T, BHO.28m3
SN FEA A 1.00 X 0.60 X 0.55 = m3 0.33
TERSAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/@B T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
T4 AT DT AL WAL
FHAA i 0.70 —( 0.33 +— 0.90 )= m3 0.33
FEL AT ADT
FEARB TR/ b 1.00 X 0.60 X 0.0b = m3 0.03
ZNE
T AT 7/ bk 0.03 X 2.35 = t 0.07




T I % E i HE £
No,2—4
Wrig ks = @-3 DIP200 L= 3.2 m
Brigr& B =  aEHEAs,d=1.25
R = 0220 X 0220 X 1 / = 0.038
HEHEE = X X / =
Vi =/
% B T ol = o & =
SAELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHAEIRERE L
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wi A FEE A 1.00 X 0.60 X ( 1.47 — 0.05 )= m3 0.85
MR T, BHO.28m3
LN A - 1.00 X ( 0.60 X 0.42 — 0.038)= m3 0.21
PR T, BHO.28m3
SN FEA A 1.00 X 0.60 X 0.80 = m3 0.48
TERSAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/@B T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
T4 AT DT AL WAL
FHAA i 0.85 —( 0.48 +— 0.90 )= m3 0.32
FEL AT ADT
FEARB TR/ b 1.00 X 0.60 X 0.0b = m3 0.03
ZNE
T AT 7/ bk 0.03 X 2.35 = t 0.07




T I % E i HE £
KB T FE No,2-6
B4 = B250X $200 L= 1.2 m
Brigr £ = I #aEAs,d=0.80
R = 0270 X 0270 X 1 / = 0.057
HEHEE = X X / =
7 0.057 Im240
% B T ol = o & =
SAELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHAEIRERE L
AsETEEK t=10cmid T 1.00 X 1.20 = m2 1.20
el 1. BHO.28m3
Wb E A - FEE A 1.00 X 1.20 X( 1.47 — 0.05 )— 0.057 m3 1.65
MR T, BHO.28m3
KD HEA A 1.00 X ( 1.20 X 0.87 — 0.057)= m3 0.99
PR T, BHO.28m3
SN FEA - 1.00 X 1.20 X 0.35 = m3 0.42
TERSAE T (RC-30)
t=10cm 1.00 X 1.20 = m2 1.20
LR T (RM-50)
t=12cm 1.00 X 1.20 = m2 1.20
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 1.20 = m2 1.20
AT DT AL WAL
FHAA i 1.65 —( 0.42 =+ 0.90 )= m3 1.18
FEL AT ADT
FEAB TRT7 /PR 1.00 X 1.20 X 0.0 = m3 0.06
ZNE
TAT7 W 0.06 X 2.35 = ¢ 0.14




T I % E F & &
KB T FE No,2-7
B4 = 200X $200 L= 1.2 m
Wi 7 = iaE B As,d=1.00 (1 T.5H7)
B = 0220 X 0220 X x / 4 = 0.038
2R = X X z /4 = 0.000
7 0.038 Im=40
% T ol = o & =
AAECIT T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
LR L
AsETEEK t=10cmid T 1.00 X 1.20 = m2 1.20
ST BHO0.28m3
WL A FEE 1.00 X 1.20 X( 1.57 — 0.05 )- 0.038 m3 1.79
MR T, BHO.28m3
SNFFIED FEA AL 1.00 X ( 1.20 X 0.82 — 0.038)= m3 0.95
PR T, BHO.28m3
SN T A 1.00 X 1.20 X 0.55 = m3 0.66
TERSAE T (RC-30)
t=10cm 1.00 X 1.20 = m2 1.20
LR T (RM-50)
t=12cm 1.00 X 1.20 = m2 1.20
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 1.20 = m2 1.20
AT DT A+ Wt
AL A4 1.79 —( 0.66 — 0.90 )= m3 1.06
FH AL T 4DT
AL TAT 7N 1.00 X 1.20 X 0.05 = m3 0.06
= Aft
TR 7/ 0.06 X 235 = ¢ 0.14




T I % E i HE £
11T &2 No,2-8
Wiz ks = ®-2 DIP$250 L= 1.2 m
B £ B = i #aEAs,d=1.07
R = 0270 X 0270 X 1 / = 0.057
HEHEE = X X / = 0.000
7 0.057 Im240
% B T ol = o & =
AHEELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
DRI
AsETEEK t=10cmid T 1.00 X 1.35 = m2 1.35
el 1. BHO.28m3
Wb E A - FEE A 1.00 X 1.35 X( 1.99 — 0.05 )— 0.057 m3 2.55
PR
Z2 20— o ck=18N/mm2) 1.00 X ( 1.35 X 1.15 — 0.057)= m3 1.50
T
[ - 2R 1.00 X ( 1.40 X 2.00 )= m2 2.80
PR
Tt BgE (RC-30) t=100mm 1.00 X 1.35 = m2 1.35
HHE 1. BHO.28m3 1.00 X 1.35 X( 1.99 — 0.25 )
SN T A —( 1.50 + 0.057 + 0.14)=| m2 0.65
TERSAE T (RC-30)
t=10cm 1.00 X 1.35 = m2 1.35
LR T (RM-50)
t=12cm 1.00 X 1.35 = m2 1.35
PBEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 1.35 = m2 1.35
T4 AT DT AL WAL
FHAA i 2.55 —( 1.35 =+ 0.90 )= m3 1.05
FEL AT ADT
FEAB TRT7 /PR 1.00 X 1.35 X 0.05 = m3 0.07
ZNE
TAT7 W 0.07 X 235 = ¢ 0.16
= ®E W oK & S




T I % E i HE £
1T ®-3 No,2-9
Wiz ks = ®-3 DIP200 L= 1.2 m
B £ 7 = I #EAs,d=1.10
R = 0220 X 0220 X 1 / = 0.038
HEHEE = X X / = 0.000
7 0.038 Im240
% B T ol = o & =
BT
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHEERR IR T
AsETEEK t=10cmid T 1.00 X 1.40 = m2 1.40
el 1. BHO.28m3
Wb E A - FEE A 1.00 X 1.40 X( 1.71 — 0.05 )— 0.038 m3 2.29
PR
Z2 20— o ck=18N/mm2) 1.00 X ( 1.40 X 0.80 — 0.038)= m3 1.08
T
[T e 1.00 X ( 0.80 X 2.00 )= m2 1.60
PR
Tt BgE (RC-30) t=100mm 1.00 X 1.40 = m2 1.40
HHE 1. BHO.28m3 1.00 X 1.40 X( 1.71 — 0.25 )
SN T A —( 1.08 + 0.038 + 0.14)=| m2 0.79
TERSAE T (RC-30)
t=10cm 1.00 X 1.40 = m2 1.40
LR T (RM-50)
t=12cm 1.00 X 1.40 = m2 1.40
PBEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 1.40 = m2 1.40
T4 AT DT AL WAL
FHAA i 2.29 —( 1.40 +— 0.90 )= m3 0.73
FEL AT ADT
FEAB TRT7 /PR 1.00 X 1.40 X 0.05 = m3 0.07
ZNE
TAT7 W 0.07 X 235 = ¢ 0.16
= ®E W oK & S




[EfE - 5] DIP-GX¢200 YIEHRE

HBEmS - R/NOE TR FY% = 0.68m Y = 0.7Tm
o < o E .| O U F 10
= 53 B ) #r | G-Link s
G5 Bk BSOS F S OBR B OS[FE OBR (R S|IFEES BR(E S|IFEE BR E S
1.444( 10 0.770 Y 0. 832 3. 046 1. 954 3 4
0.681| II 0.7701 1 0. 770 v 0. 770 2.991 2.009 4 6
& B [DIP-GX, ¢200, STEZF] L = 5,000 2 K 6.037| 3.963 7 10




3. BE/K & HPPE ¢ 50



HPPE ¢ SOmmic kK EfER T HBFEE

RSN B EReSKY T #Y: 0.70m~1.42m NO. 4
& 1 R
IiE £ _# BRTE ) % 8 BEHE #E _F
JKEEEKE A EFZONEE
HH RYTFLUE ¢ 50 X 5,000 N 16/ 5.000 5000 x (4 + 12) = 80.000
JKEEEKE A EFROMNEE
RYIFLUE ¢ 50 x 5,000 N 2 PIERELY = 9620 YEA
JKEEEKE A BE
RYIFLUE ¢ 50 X 5,000 P 5 PIERLY = 21604 YEA
RUIFLUER m%Z
EF90° ~RUK @50 x 90° & 3 0312 0312 x (2 + 1) = 0.936
RUTFLUER A%
EF45° RUK ¢ 50 x 45° & 5 0.269 0269 x (2 + 3) = 1.345
RUIFLUER m%Z
EF45° RUK ¢ 50 x 45° & 70212 0212 x (3 + 4) = 1484
RUTFLUER A%
EF22° 1/2_RVK $50%22° 1/2 e 2 0234 0234 X 2 = 0.468
RUIFLUER %
EF22° 1/2_RUK $50%22° 1/2 e 4 0176 0.176 x 4 = 0.704
RUIFLUER
LT 1% $75% ¢ 50 & 2/ 0.360 0360 x (1 + 1) = 0.720
RUIFLUER %
EF SRUK ¢ 50 X 450H 1& 1| 0.851 0851 X 1 = 0.851
RUTFLUER 04+
EF75VY @50 1& 1] 0.160 0160 X 1 = 0.160
SUSH Vb= Fyb @ 2
750V FH $50 7.5K #H 1 1
RUTFLUER 04+
EFO5 ¢ 75 & 2 0148 0148 x (1 + 1) = 0296
SUSH Vb= Ty
170 FEH ¢75 7.5K #H 2 1 + 1
RUZFLUER
EFV4 vk ¢ 50 1& 1 1
RUZFLUER
AHAZHIPVDaAUb ¢ 50 & 1 1
PEf&EL O fF
VIR =LY F ¢ 50 & 1] 0.680 0680 X 1 = 0.680
%
YIRS =L F ¢ 75 & 2| 0.240 0240 X (1 1) = 0480
(2)] 0325 0325 x (1 1) = 0.650
GXFs 730V HTEE $350% ¢ 75 1& x =
¢ 75-RF-GF3EAH
170 FEH ATULAAN Ryh | #H 2 1 + 1
730V M FHEEE b75 & 2 1 + 1
BEEER = 119.998
ERIER s Y%
ERRT— W=50 m 118.8 119.998 — 0680 — 0480 = 118.838
ERER 27K BN HEE
BRIZBERER)-T D T5LUT m | 1584 119998 x {60 x (1 + 01) + 501 = 158397
FILZ THERIEE it s
HERAZHE —b W=150 2% m 117.6 118765 — 0680 — 0480 = 117.605
it it
#H# H=0.70 H=1.30
@ 250
TOFRABEREMGT CRIEXRTH #H 3 1 2 = 3
Tt HA @ 250
BEISRAFYIE S H=100 & 1 1 = 1
T HA @250
LY Uk yIAB T L# H=150 & 2 2 = 2
T HA @ 250
LY Uk IR BT FfEE H=150 & 2 2 = 2
T HA @ 250
LY VR yIAB T & H=300 & 2 = 2
T HA @ 250
LY Uk yIAB T L& H=150 & 1 = 1
T HA @250
LY Uk IR BT T#&B H=300 & 2 = 2
TtU#HA ¢ 250
LY Uk yIAB T EEB (M) H=40 | & 3 1 2 = 3
@A mEERX) B34 e
BEELOYE L=500mm & 2 2 = 2




HPPE ¢ 5SOmmic kK EfRER T HEFTES

&8 O7%: HPPE ¢ 50mm:L=37.481m(37.043m)+ 82.517m(81.722m)=119.998m (118.765m)

ek BERERES &Y #Y :0.70m~1.42m NO.
E 4 R
- BT E Hy 5 & 1
[#ET)
RbE He5 s TEE
RUIFLUERMGT ¢ 50 m 118.2/119.998 — 0.680 — 0480 — 0.650 = 118.188
BEE F45 K22 7509 90
EFRET a#F) 14+ 5 + 2 + 1 + 3 x 2
50 _ 45 22 MS450
[0 52 7 x 2 + 4 x 2 + 1 x 2 = 52
(2O#F) Yroh
EF#$FT ¢ 50 AT 1 1 + = 1
(O#%F) 759y
EFf#tF T 75 &l 2] 2 = 2
MERELY
RUIFLUEYRT ¢ 50 a 17, 17 = 17
RYIFLUE PVYa{ub
ANZHIVMET ¢ 50 m] 2001 x 2 = 2
7.5K EF775Y
ISUCHET ¢ 50 m| 11 = 1
7.5K EF775Y
ISUCHET ¢ 75 m| 20 2 = 2
HUHHFET ¢ 50 #® 1 1 = 1
HUHHFET ¢ 75 #® 20 2 = 2
ERRT— W=50 m 1188 E#MH &Y = 118.838
#ET—
BHIRENER)-THEL T5UT m 1584 BREER &Y = 158.397
FILE
HEEH—H W=150 2% m 117.6 E#ME LY = 117.605
BRKE
EKHBRT BISR E g m 120.0/119.998 = 119.998
ey ey
[#EFT) H=0.70 H=1.30
¢ 250
HUFASKESREMAT CHIBERTIR #A 3 1 2 = 3
Tt ¢ 250
BEISAFYIE! S H=50 1& 1 1 = 1
Tt ¢ 250
BEISAFYIE! FAEH: H=100 1& 1 1 = 1
Tt ¢ 250
LY Uk IR E T L& H=150 1& 2 2 = 2
Tt ¢ 250
LY Uk IR BT FIfEER H=200 1& 4 4 = 4
Tt ¢ 250
LY Uk IR BT L& H=150 1& 1 1 = 1
Tt ¢ 250
LY Uk IR E T TE&B H=300 1& 2 2 = 2
Tt ¢ 250
VYUK yIAMER T EEB(AF) H=40 | & 3 1 2 = 3
@AmEER) FHRA ) EEHE
MERLOYF L=500mm x 2 2 = 2
(£T]
HPPE ¢ 50
EE L T®-3 TEEEI070 | m 350 342 + 08 = 350
HPPE ¢ 50
BEILTE-4 MEEHE =120 m 1.1 1.1 = 11
HPPE ¢ 50
EBI L T®-5 EEHE =130 m 2.8 11+ 17 = 28
DIP-HPPE ¢ 75
EELET®-2 TEHEEI130 | m 1.4 07 + 07 = 14




+ T % B £

LI

No. 4 NO. 1 TT®-3 NO. 2 TT®-4 0.3 TIT®-5 NO. 3 +T5-2
S0mmHPPEEC K & 35.0 SR L 1.1 SR L 2.8 SR L 1.4 SR L SR L SR L SR L =BT 3k
SR L SR L SR L SR L SR L SR L SR L =BTk
£ i 5] #® & i | BEHE

AsEhZE R 2.00 70.00 2.00 2.20 2.00 5.60 2.00 2.80 80. 60 )l ( 80 )

SEUI T t=15cmAF m
AsEhZE R 0.60 21.00 0. 60 0. 66 0. 60 1.68 0. 60 0.84 24.18 )| ( 24)

SRR T [t=10cmi T m2
BHO. 28m3 0.43 15. 05 0.73 0.80 0.79 2.21 0.80 1.12 19.18 )| ( 20)

AR YE T MEt m3
BHO. 28m3 0.15 5.25 0.15 0.17 0.15 0.42 0.17 0.24 6.08 ) ( 10)

HMERT BAL m3
BHO. 28m3 0.15 5.25 0.45 0.50 0.51 1.43 0.51 0.7 7.89)]( 10)

HMERT HFEL m3
(RC-30) 0. 60 21.00 0. 60 0. 66 0. 60 1.68 0. 60 0.84 24.18 )| ( 24)

TrERET t=10cm m2
(RM-30) 0. 60 21.00 0. 60 0. 66 0. 60 1.68 0. 60 0.84 24.18 )| ( 24)

TERET t=12cm m2
BAEZH As13mm 0. 60 21.00 0. 60 0. 66 0. 60 1.68 0. 60 0.84 24.18 )| ( 24)

R {818 t=3cm m2
BitunT 0.26 9.10 0.23 0.25 0.22 0.62 0.23 0.32 10.29 )| ( 10)

(8) 41DT m3
BitunT 0.03 1.05 0.03 0.03 0.03 0.08 0.03 0.04 1.20 ) ( 1)

(AS) 41DT m3
ZAE 0.07 2.45 0.07 0.08 0.07 0.20 0.07 0.10 2.83)]( 2.8)

AST% t
0. 60 21.00 0. 60 0. 66 0. 60 1.68 0. 60 0.84 24.18 )| ( 24)

R {818 TEEE m2

ZRMOKE S




[E#& - #xX] HPPE EFZAFEE ¢50 Y)ERE

No. 4
TRE =T A ¢ B/NEE Y& = 0.25m 2% = 0.356m
B & Z 9
i 7t 053 B I
H5 Bk E Z|EE BK E OE|EEF BRK E E|BE BR E OSFBE BRKR(E S
(1) 2.840| [7] 1. 940 4.780| 0.220 2
2) 3.340([14] 1.000{[15] 0. 500 4.840| 0.160 3
o 2 E% [HPPE-EF%Z O ft ¢ 50] L = 5,000 2 =K 9.620( 0.380 5

Z R OKE R



(B - #X] HPPE EE 450 YIERE

No. 4
TRE =T A ¢ B/NEE L& = 0.25m ZE)E = 0.35m
B & b .
7S &t V55 b
E5 R E I|&F R E I|BEES BR(E EEE BR|E E[EFEE BRE X

[1] 3.850 [3] 0. 806 4.656| 0.344 2
[2] 0.630| [4] 2. 120 [5] 0.806| [6] 1.370 4.926| 0.074 4
[8] 3.196] [9] 0.587( [10] 0. 587 4.370] 0.630 3
[11] 2.477| [12] 1.375 3.852| 1.148 2
[13] 3. 800 3.800| 1.200 1

& 7 E% [HPPE ¢ 50] L = 5,000 5 A& 21.604| 3.396 12

Z R OKE R



T I % E & &
No.4-1
W4 =  6)-3 HPPE$50 L= 35 m
Briai# 7 = i #aE, d=0.70
EHEEE = 0060 X 0060 X 1 / = 0.003
=P kR = X X / =
Im27
% it X LIS %
ARG T
AsETSEK t=15emid T 1.00 X 2 = m 2.00
BRI T
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wb P+« FEET +- 1.00 X 0.60 X ( 0.76 — 0.05 )= m3 0.43
HHEE 1. BHO.28m3
SN AL 1.00 X ( 0.60 X 0.26 — 0.003)= m3 0.15
HHEZ 1. BHO.28m3
KNG A 1.00 X 0.60 X 0.25 = m3 0.15
ST (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_FEESHE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRTE 1H (AR ASs 1 3mm, A 7))
(=3cm 1.00 X 0.60 = m2 0.60
FE LA T 4tDT mEl+ WwHELE
RS A 0.43 —( 0.15 = 0.90 )= m3 0.26
FEL A T ADT
RS TRAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
Z N
TR 7 b 0.03 X 235 = t 0.07




T I % E & &
No.4-2
WGz A = @4 HPPE$50 L= 1.1 m
Briai5 7 = i il ,d=1.20
EHEEE = 0060 X 0060 X 1 / = 0.003
=P kR = X X / =
Im27
% it X LIS %
ARG T
AsETSEK t=15emid T 1.00 X 2 = m 2.00
BRI T
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wb P+« FEET +- 1.00 X 0.60 X( 1.26 — 0.05 )= m3 0.73
HHEE 1. BHO.28m3
SN AL 1.00 X ( 0.60 X 0.26 — 0.003)= m3 0.15
HHEZ 1. BHO.28m3
KNG A 1.00 X 0.60 X 0.75 = m3 0.45
FEBAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_FEESHE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRTE 1H (AR ASs 1 3mm, A 7))
(=3cm 1.00 X 0.60 = m2 0.60
FE LA T 4tDT mEl+ WwHELE
RS A 0.73 —( 0.45 = 0.90 )= m3 0.23
FEL A T ADT
RS TRAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
Z N
TR 7 b 0.03 X 235 = t 0.07




T I % E & &
No.4-3
WGz A =  @©-5 HPPE$50 L= 2.8 m
Briai5 7 = i #aE,d=1.50
EHEEE = 0060 X 0060 X 1 / = 0.003
=P kR = X X / =
Im27
% it X LIS %
ARG T
AsETSEK t=15emid T 1.00 X 2 = m 2.00
BRI T
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wb P+« FEET +- 1.00 X 0.60 X( 1.36 — 0.05 )= m3 0.79
HHEE 1. BHO.28m3
SN AL 1.00 X ( 0.60 X 0.26 — 0.003)= m3 0.15
HHEZ 1. BHO.28m3
KNG A 1.00 X 0.60 X 0.85 = m3 0.51
FEBAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_FEESHE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRTE 1H (AR ASs 1 3mm, A 7))
(=3cm 1.00 X 0.60 = m2 0.60
FE LA T 4tDT mEl+ WwHELE
RS A 0.79 —( 0.51 = 0.90 )= m3 0.22
FEL A T ADT
RS TRAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
Z N
TR 7 b 0.03 X 235 = t 0.07




T I % E & &
No. 44
WGz A =  GB-2 DIP¢75 L= 1.4 m
Briai5 7 = i #aE,d=1.50
EHEEE = 0090 X 0090 X =1 / = 0.006
=P kR = X X / =
Im27
% it X LIS %
ARG T
AsETSEK t=15emid T 1.00 X 2 = m 2.00
BRI T
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.28m3
Wb P+« FEET +- 1.00 X 0.60 X ( 1.39 — 0.05 )— =| m3 0.80
HHEE 1. BHO.28m3
SN AL 1.00 X ( 0.60 X 0.29 — 0.006)= m3 0.17
HHEZ 1. BHO.28m3
KNG A 1.00 X 0.60 X 0.85 = m3 0.51
FEBAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_FEESHE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRTE 1H (AR ASs 1 3mm, A 7))
(=3cm 1.00 X 0.60 = m2 0.60
FE LA T 4tDT mEl+ WwHELE
RS A 0.80 —( 0.51 = 0.90 )= m3 0.23
FEL A T ADT
RS TRAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
Z N
TR 7 b 0.03 X 235 = t 0.07




4. PE/KEVLP ¢ 50



VL P ¢50mmBFKEMRT

ek EH el eSkY £48Y:0.30~0.70m NO. 6
& 4 R
IiE g _# BRTE B % & EHE H_Z
HH | BNV ¢ 50 x 4,000 N 4.000 4000 X =
BEE =NV SE ¢ 50 % 4,000 x 1 yERELY = 2250 YIEA
BALE ZNI1=) ILE ¢ 50 & 5 + 5 + = 5
BAEEZNFA=09" 29T W ¢ 50 & 1 1 + = 1
B =I5y $50 & 1 + 1 = 1
FCDRIIVY ¢ 50+ 10K & 1 1 = 1
HYF (IR ¢ 50 = 1] 0.180 1 = 1 (0.180)
¢ 50 GFRSH Ao
759 WFE SUS304BN-7.5K | #A 1 1T+ = 1
BREER ¢50 = 2250 (2.430)
HEH
WEAEAEL — W=150 2% m 23 2430 — 0.180 — = 2250
¢ 50
H#H H=0.70
¢ 250
TtUHEA%E CIEXRTR " 1 1 = 1
T+ A ¢ 250
BEISAFyHE SREH: H=100 & 1 1 = 1
T+ A ¢ 250
LY Uik'ygR L TE H=150 & 1 1 = 1
T+ A ¢ 250
LY vik'ygR EE(H#) H=40 | {& 1 1 = 1




VLPoSOmMmEEKERRT HEBFHES

ek EH el eSkY £48Y:0.30~0.70m NO. 6
& 4 R
IiE £ BRTE H % & H_Z
& [{E+T]
HERAMBT MOBAMG50 | m 2.3 2250 2.250
YERELY
NOZEE TR T ¢ 50 [m] 4 4 4
YERELY
MOREERLYT ¢ 50 m] 8 8 8
20%Y TR SHER TV R(21E)
MOBAERLAHEET ¢ 50 m} 13 12+ 1 13
HOHREL @50 X 11 1
7.5K
ISUUHET @50 m] 1 1 1
WEAEAEL — W=150 2% m 23 BEMHLY 2.250
¢ 50
[#FEFT] H=0.70
¢ 250
EUHFABKERAT CIEXRTR " 1 1 1
T+ A ¢ 250
BETSAFYHH SREEH: H=100 & 1 1 1
T+ A ¢ 250
LY Uk AR T L TE H=150 & 1 1 1
T+ A ¢ 250
LY UK vIARIT T EL(Mf2) H=40  {& 1 1 1
(1]
EEET®-1 HEEE, d=0.50m | m 14 14+ 1.4
EHLTE-3 HEEE, d=0.70m | m 0.7 07 + 0.7




T I ¥ B £ 5 =

No. 6 NO. 1 TI®-1 NO. 2 NO. 3 +I®-3
50mm VLP #EKE 1.4 =EE L SER L 0.7 =EEL SER L SER L SER L SER L =BT
SEE L SER L SER L SER L SER L SER L SER L B
£ i i % & &

AsEh%E R 2.00 2.80 2.00 1.40 ( 4.20)

SEU T t=15cml F m
AsEHEERR 0. 60 0.84 0. 60 0.42 ( 1.26)

SEERIEAT  [t=10cmU T m2)
BHO. 28m3 0.31 0.43 0.43 0.30 ( 0.73)

PR IE T HME+ m3
BHO. 28m3 0.15 0.21 0.15 0.1 ( 0.32)

HIERT BAL m3
BHO. 28m3 0.03 0.04 0.15 0.11 ( 0.15)

HIERT FEST m3
(RC-30) 0. 60 0.84 0. 60 0.42 ( 1.26)

TIERET t=10cm m2)
(RM-30) 0. 60 0.84 0. 60 0.42 ( 1.26)

LERRAET t=12cm m2)
BAEFHAs13mm 0. 60 0.84 0. 60 0.42 ( 1.26)

BRE{RE IR t=3cm m2
BRiuonT 0.28 0.39 0.26 0.18 ( 0.57)

(£8) 4tDT m3|
BRiuonT 0.03 0.04 0.03 0.02 ( 0.06)

(AS) 4tDT m3|
ZAE 0.07 0.10 0.07 0.05 ( 0.15)

ASHE t
0. 60 0.84 0. 60 0.42 ( 1.26)

ERE{REIR T EE m2

SR OKE




T T % E fH B &
No.6—1
Wrig ks = G—1 VLP50 L= 1.4 m
Brigid B = il s, d=0.50
A = x X x [/ 4 =
R = 0060 X 0.060 X / = 0.003
Vi =/
% B 0 ol = o # & g =
AL T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHAEIRERE L
AsEFEEK t=10cmbl 1.00 X 0.60 = m2 0.60
i 1. BHO.28m3
Wi A FEE A 1.00 X 0.60 X( 0.56 — 0.05 )= m3 0.31
MR T. BHO.28m3
LN A - 1.00 X( 0.60 X 0.26 — 0.003)= m3 0.15
MR T, BHO.28m3
SN FEA A 1.00 X 0.60 X 0.0b = m3 0.03
BT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/@B T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
T4 AT DT AL WAL
FHAA i 0.31 —( 0.03 = 0.90 )= m3 0.28
FEL AT ADT
FEARB TR/ e 1.00 X 0.60 X 0.0b = m3 0.03
ZNE
T AT 7/ bk 0.03 X 2.35 = t 0.07




T T % E fH B &
No.6—3
Wi~ = ©—3 VLP$50 L= 0.7 m
Brigr& B = EH#aE,d=0.70
A = x X z [/ =
R = 0060 X 0.060 X / = 0.003
Vi =/
% B 0 ol = o # & g =
AL T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
BHAEIRERE L
AsEFEEK t=10cmbl 1.00 X 0.60 = m2 0.60
i 1. BHO.28m3
Wi A FEE A 1.00 X 0.60 X( 0.76 — 0.05 )= m3 0.43
MR T. BHO.28m3
LN A - 1.00 X( 0.60 X 0.26 — 0.003)= m3 0.15
MR T, BHO.28m3
SN FEA A 1.00 X 0.60 X 0.25 = m3 0.15
BT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/@B T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
T4 AT DT AL WAL
FHAA i 0.43 —( 0.15 +— 0.90 )= m3 0.26
FEL AT ADT
FEARB TR/ e 1.00 X 0.60 X 0.0b = m3 0.03
ZNE
T AT 7/ bk 0.03 X 2.35 = t 0.07




[&FfE - ] VLP@50 YIEHE
No. 6

PR S  BUNETE W - 2OV =
Z b # . .
I At | U 8l My
BE R K SIFR BIR (K& S|BES BR R E[ES PR (K S| B BR (& S|EES PR k&
0. 500 1. 150 0. 300 0. 300 2.2501 1.750 8 4
& HE [AEARERLE =T A =2 7E50A] L = 4,000 1= 2.2501 1.750 8 4

=ZREWKER



5. {H ke



ENIERET

NO, 71
g 4 R
IiE £ & BRTZE S H & 1w _Z
b75-770V
H# hTFXEOH S NS EIA-75K | &
7.5K
GXH 7170V RTEE $350% @75 &
75K iz 2
FOSUURE ¢ 75 X 400L &
¢ 75 % H150-7.5K- iz =2
F-NEEIESR FCD  |RAAEB A -Fr7 K| E
G 75-GFRZh Ao
70V FEH SUS304BN-7.5K | #A
BERAIY BEHEREE ¢75 &
¢ 500
SHXRERSE AR3E 8
K& ¢ 500
LY Uikyh & L& H=200 &
K& ¢ 500
LY k')A &8 H=300 @
JKiE A ¢ 500
LY Uikyh R T&B H=300 @
JKiE A ¢ 500
LY k')A JEEB (M) H=40 | {&
FE €FEomm|
G715 770V
HAXRRRET RS ERIAR-THK | H 1
7.5K
ISV FL 675 m] - WiER - FTE
¢ 500
HAXERASEREAT Af3E #f
JKiE A ¢ 500
LY Uk ) ABA T L& H=200 [E]
AR ¢ 500
LY Uk ) ABA T fE8 H=300 &
KEMR ¢ 500
LY Uk ) ABA T T& H=300 [E]
KEMR ¢ 500
LY UK vy AR T EER(MZ) H=40 | &
X Bl #HfE 1815cm [El3id SHARREY




6. ¥5/KEPE ¢ 20 - 25



HBKEMRTI (PE020PE®25) HEFHEESE
""""" "0 PEP ¢ 20mm X 18T PEP ¢ 25mm X 187
mEEEH BEElReSEY 3 :0.70m~0.30m NO, 7
& M R
IiE - BRTE ) % & E _Z
8k FIIFLVER
H#H YRR KE $50% ¢ 20 # 6 6 6
FYIFLVER
SR KE ¢ 50 % 25 = 11 1
®20 ¢ 25
KR YIR FCD ZR# & 77 6+ 1 7
#aak
FH (EHT)
FYIFLVER
SKBRETGAAT $50x ¢ 20 AT 6, 6 6
FYIFLVER
SKBRETGAAT ¢ 50 % 25 (&7 1 1 1
MIf EHEIEBS4m
FRKEERT PE ¢ 20 (&7 1K ERRIEER LY L=34.5m
MIf EHEIEBS4m
FRKEERT PE ¢ 20 (&7 6 Kk ERFELER LY L=2.9m
MIH EERIEB <4m
FRKEERT PE ¢ 25 &R 1 " L=27m
[£T]
$20-25
HAKIEHILETO TEHEEH=060 | m 200/ 200 20.0




T T % E fH B &
No.7—1
g5 = @D PE$20:25 L= 20.0 m
Brigr& B = B H#E (d=0.60)
EHEEE = 0030 X 0030 X 1 / = 0.001
HEHEE = X / =
Vi =/
% B T ol = o & =
AHEELI T
AsETEEK t=15cmid T 1.00 X 2 = m 2.00
IR T
AsETEEK t=10cmid T 1.00 X 0.60 = m2 0.60
el 1. BHO.13m3
Wb E A - FEE A 1.00 X 0.60 X (0.630 — 0.05 )= m3 0.35
MR T, BHO.13m3
SN A £ 1.00 X ( 0.60 X 0.230 — 0.001)= m3 0.14
MR T, BHO. 13m3
SN FEA - 1.00 X 0.60 X 0.150 = m3 0.09
TERSAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
PEIETIRE TH (A As 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
T4 T 2DT AL WAL
FHAA i 0.35 —( 0.09 +— 0.90 )= m3 0.25
FEL AT 2DT
FEAB TRT7 /PR 1.00 X 0.60 X 0.05 = m3 0.03
ZNE
TAT7 W 0.03 X 235 = ¢ 0.07




¥ 2 £ i =
No. 7 NO. 1 TTO NO. 2 TT®
PEP20-25mmg K & 200 -=EmEEL SEHE L SEE L SER L SEE L SER L SEE L =@
SEE L SEE L SEE L SEE L SEE L SEE L SEE L =@
E3 i i3 i i BERE

AsEhZE R 2.00 40.00 40.00 )| ( 40)

SHEEYIMRT t=15cmL T m
AsEhZE R 0. 60 12.00 12.00 )| ( 12)

SHERRER T [t=10cmLA T m2
BHO. 13m3 0.35 7.00 7.00 ) ( 10)

AR ERIE T M+ m3
BHO. 13m3 0.14 2.80 2.80)|( 3)

IR T BAL m3
BHO. 13m3 0.09 1.80 1.80 ) ( 2)

HHIERT AT m3
(RC-30) 0. 60 12.00 12.00 )| ( 12)

TRERET t=10cm m2
(RM-30) 0. 60 12.00 12.00 )| ( 12)

LT t=12¢cm m2
BAERH As13mm 0. 60 12.00 12.00 )| ( 12)

BE{REIR t=3cm m2
RitasT 0.25 5.00 5.00 )| ( 10)

(8 2tDT m3
BitasT 0.03 0. 60 0.60 )| ( 1)

(AS) 2tDT m3
ZAE 0.07 1.40 1.40 )| ( 1.4)

ASE% t
0. 60 12.00 12.00 )| ( 12)
BEREIR B EE m2 )¢ )

18 Con m2

SR KER




& E
B = T



POREBET HBHES

E18 - 0% DIP ¢ 250mm:L=273.3m, DIP ¢ 200mm:L=295.4m, ¢ 50mm:L=7.6m, $ 40:L=81.6m

BEEH B EEeE Y% 035m~1.20m NO, 9
& M R
IiE - BRTE ) % & E _Z
B3
H#
ErRER
GXfzZ O ¢ 200 & 1
FH [#%=T)
HHERLIFEAT DIP ¢ 250 m | 2733 940 + 1793 273.3
HHERLIFEAT DIP ¢ 200 m | 2954 965 + 1772 + 9.0 12.7 295.4
L=2 Im¥TRE
BIEESLEREFHAT VP ¢ 50 m 7.6 7.6 7.6 #BEHME
" VP ¢ 40 m 816 816 81.6
Bk ERE DT DIP ¢ 250 a 45| 2733 + 6m/EEfT 45 i
” DIP ¢ 200 [m] 49| 2954 + 6m/EEAT 49 BT
" VP ¢ 50 m| 1 7.6 + 6m/BEFT 1 HEHIEEE
" VP ¢ 40 m] 13| 81.6 + 6m/HEFR 13 HEIEEE
GXBEREMERILI DIP-GX ¢ 200 O 1
GXMEMREHRFT DIP-GX ¢ 200 a 11 (Z0O4%)
[+T]
¢ 250
BELXITD-1 BEERE L #,Y0.65m  m 890  89.0 89.0
¢ 250
BELTD-2 BEEEE £ #Y0.75m | m
¢ 250
WELXITD-3 BEERE £ 4%10.80m | m 99.7 94 + 903 99.7
¢ 250
BELTD4 BEERE L 1Y0.85m | m
¢ 250
HELXITD-5 BERELHY1.00m | m 846  84.6 84.6
¢ 200
BELXTO-1 BEERE £ 4%10.80m | m 13.0 52 + 18 13.0
¢ 200
BELTIO-2 BERE L#Y090m m | 1785 965 + 820 1785
¢ 200
HELXTTO-3 BEERELH,Y0.95m | m 952 952 95.2
¢ 200
BELTTO-4 BEEEE LT HY1.10m | m
¢ 200
HELXTITO-5 BEERE L 4Y1.28m | m 8.7 38 + 49 8.7
¢75
BELTIO BEERE L #Y0.90m  m
@40, 50
BELXIT@-1 B E L #Y0.35m | m 816/ 81.6 81.6
@40, %50
BETID-2 BRELHY1.20m | m 55 55 5.5




T I % K % B %
No.9 NO.1__FT1 | N0.2 FT(2 | NO.3_F*T@®3 | NO.4_F*TD4 | NO.b FTD5b5 | N0.6  FT@1 | No.7 _ FTI@2 | NO.8_+T03
HBREMELTENE 89.0 =WEL SEEL | 097 =@E L EEL | 846 -@EEL | 180 @& L |1/186 -@EL | 952 =& L
SER L SER L SER L SR L SR L SR L SHEER L SHEER L
& # iR % /Mg
AsEfiZE 2.00 178.00 2.00 199. 40 2.00 169. 20 2.00 26. 00 2.00 357.00 2.00 190. 40 (11120.00 )| (
I T t=15cmAF m
AsEfizE 0. 60 53.40 0. 60 59. 82 0. 60 50.76 0. 60 7.80 0. 60 107.10 0. 60 57.12 (' 336.00 )| (
SRR T |t=10cmA T m2
BHO. 28m3 0.46 40.94 0.55 54.84 0. 60 50.76 0.63 8.19 0.72 128. 52 0.78 74.26 ( 357.51)(
HEARPRYE T Myt m3
BHO. 28m3 0.40 35. 60 0.49 48. 85 0.52 43.99 0.55 7.15 0. 64 114.24 0.7 67.59 ( 317.42)| (
HIERT FEL m3
(RC-30) 0. 60 53.40 0. 60 59. 82 0. 60 50.76 0. 60 7.80 0. 60 107.10 0. 60 57.12 (' 336.00 )| (
TrERET t=10cm m2
(RM-30) 0. 60 53.40 0. 60 59. 82 0. 60 50.76 0. 60 7.80 0. 60 107.10 0. 60 57.12 (' 336.00 )| (
BT t=12cm m2
BAEZH As13mm 0. 60 53.40 0. 60 59. 82 0. 60 50.76 0. 60 7.80 0. 60 107.10 0. 60 57.12 (' 336.00 )| (
ERE{REIH t=3cm m2
BitanT 0.02 1.78 0.01 1.00 0.02 1.69 0.02 0.26 0.01 1.79 0.01 0.95 ( 5.57 )| (
(£8) 4tDT m3
BRitunT 0.03 2.67 0.03 2.99 0.03 2.54 0.03 0.39 0.03 5.36 0.03 2.86 ( 16.80 ) (
(AS) 41DT m3
ZAE 0.07 6.23 0.07 6.98 0.07 5.92 0.07 0.91 0.07 12. 50 0.07 6. 66 (39.20 ) (
ASH% t
0. 60 53.40 0. 60 59. 82 0. 60 50.76 0. 60 7.80 0. 60 107.10 0. 60 57.12 (' 336.00 )| (
R g8 B EE m2

SR OKE




T I % B K & =
No. 9 NO.9 FT@®4 [NO.10 FT@5 [NO.11l___F£T® [N0O.12 FI@-1 [NO.13 EI@2
HREME T THE51% SEE L 8.7 =EEL SEE L 81.6 =R L 5.6 =EE L SEE L SEE L =EIFT 3
SER L SER L SER L SER L SER L SER L SER L =B
& # iR % IMVEE BEHE

AsEfiZE 2.00 17.40 2.00 163. 20 2.00 11.00 (191.60 )| ( 1310 )

I T t=15cmAF m
AsEfizE 0. 60 5.22 0. 60 48.96 0. 60 3.30 ( 57.48)|( 393)

SRR T |t=10cmA T m2
BHO. 28m3 0.78 6.79 0.21 17.14 0.72 3.96 ( 27.89)|( 390 )

HEARPRYE T Myt m3
BHO. 28m3 0.7 6.18 0.10 8.16 0.61 3.36 ( 17.70) ( 340 )

HIERT FEL m3
(RC-30) 0. 60 5.22 0. 60 48.96 0. 60 3.30 ( 57.48)|( 393)

TrERET t=10cm m2
(RM-30) 0. 60 5.22 0. 60 48.96 0. 60 3.30 ( 57.48)|( 393)

BT t=12cm m2
BAEFH As13mm 0. 60 5.22 0. 60 48.96 0. 60 3.30 ( 57.48)|( 393)

ERE{REIH t=3cm m2
RitunT -0.01 -0.09 0.10 8.16 0.04 0.22 ( 8.29 ) ( 10)

(£8) 4tDT m3
BRitunT 0.03 0.26 0.03 2.45 0.03 0.17 ( 2.87)|( 20 )

(AS) 41DT m3
ZAE 0.03 0.26 0.07 5.7 0.07 0.39 ( 6.36 ) ( 45.6 )

AS5% t
0. 60 5.22 0. 60 48.96 0. 60 3.30 ( 57.48)|( 393)

R g8 B EE m2

SR OKE




T I # E ¢ F =
LA T (B E HME L) No, 9-1
Wrigidzk 45 = (D-1 DIP$250 L= 89.0 m
Bt B = I #aE,d=0.65
BHE = 0270 X 0270 X / = 0.057
2R = X X / =
Im=247
% B E e Hof # & i =

AL T
AsEILEIR t=15cmLL T 1.00 X 2 = m 2.00
LI T
ASEILEIR t=10cmLL T 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
7P A FEET - 1.00 X 0.60 X( 0.92 — 0.05 )—- 0.057 m3 0.46
HHEE T, BHO.28m3
SN D TEA S m3
HHEE T, BHO.28m3
SN A A 1.00 X 0.60 X 0.67 = m3 0.40
ISR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_LESHE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PRIETIRTE IH (A 5 A s ] 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FETH Gy T. 44DT A+ WA
FEAB AP 0.46 —( 0.40 = 0.90 )= m3 0.02
FEALH T DT
FHAZ TAT7N PR 1.00 X 0.60 X 0.06 = m3 0.03
ZNE
TAT 7N 0.03 X 235 = ¢ 0.07

R @ K E &




T I # E ¢ F =
LA T (B E HME L) No,9-3
Wrigis& 5 = (D-3 DIP$250 L= 99.7 m
Bt B = i #aE, d=0.80
R = 0270 X 0270 X / = 0.057
EHEE = X X / = 0.000
Im=247
% B E e Hof # & i =

ARG T
AsBTEER t=15cmEL 1.00 X 2 = m 2.00
LI T
AsBTEER t=10cmEL T~ 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
12 EH A PEE A 1.00 X 0.60 X( 1.07 — 0.056 )- 0.057 m3 0.55
FEEZ T BHO.28m3
SN D TEA S m3
FEEZ T BHO.28m3
SN A A 1.00 X 060 X 0.82 = m3 0.49
FEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PRIETIRTE IH (A 5 A s ] 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FETH Gy T. 44DT A+ WA
FrAA £ 0.55 —( 0.49 = 0.90 )= m3 0.01
FEALH T DT
FHAZ TAT7N PR 1.00 X 0.60 X 0.06 = m3 0.03
ZNE
TAT 7N 0.03 X 235 = ¢ 0.07

R @ K E &




T I # E ¢ F =
LA T (B E HME L) No,9-5
WA =  (D-5 DIP$250 L= 84.6 m
Briaif B = i #aE, d=1.00
R = 0270 X 0270 X / = 0.057
EHEE = X X / = 0.000
Im=247
% B E e Hof # & i =
ARG T
AsBTEER t=15cmEL 1.00 X 2 = m 2.00
LI T
AsBTEER t=10cmEL T~ 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
7P A FEET - 1.00 X 0.60 X( 1.27 — 0.05 )— 0.057 m3 0.67
FEEZ T BHO.28m3
SN D TEA S m3
FEEZ T BHO.28m3
SN A A 1.00 X 060 X 1.02 = m3 0.61
FEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PRIETIRTE IH (A 5 A s ] 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FETH Gy T. 44DT A+ WA
FEAB AP 0.67 —( 0.61 = 0.90 )= m3 -0.01
FEALH T DT
FHAZ TAT7N PR 1.00 X 0.60 X 0.06 = m3 0.03
ZNE
TAT 7N 0.03 X 235 = ¢ 0.07

R @ K E &




T I # E ¢ F =
LA T (B E HME L) No,9-6
WA =  @-1 DIP$200 L= 13.0 m
Bt = d#E,d=0.80
R = 0220 X 0220 X / = 0.038
EHEE = X X / = 0.000
Im=247
% B E e Hof # & i =

ARG T
AsBTEER t=15cmEL 1.00 X 2 = m 2.00
LI T
AsBTEER t=10cmEL T~ 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
7P A FEET - 1.00 X 0.60 X( 1.02 — 0.05 )- 0.038 m3 0.54
FEEZ T BHO.28m3
SN D TEA S m3
FEEZ T BHO.28m3
SN A A 1.00 X 0.60 X 0.77 = m3 0.46
FEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PRIETIRTE IH (A 5 A s ] 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FETH Gy T. 44DT A+ WA
FEAB AP 0.54 —( 0.46 — 0.90 )= m3 0.03
FEALH T DT
FHAZ TAT7N PR 1.00 X 0.60 X 0.06 = m3 0.03
ZNE
TAT 7N 0.03 X 235 = ¢ 0.07

R @ K E &




T I # E ¢ F =
LA T (B E HME L) No,9-7
WA =  (@-2 DIP$200 L= 1785 m
gt = ind#E,d=0.90
R = 0220 X 0220 X / = 0.038
EHEE = X X / = 0.000
Im=247
% B E e Hof # & i =

ARG T
AsBTEER t=15cmEL 1.00 X 2 = m 2.00
LI T
AsBTEER t=10cmEL T~ 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
7P A FEET - 1.00 X 0.60 X( 1.12 — 0.05 )- 0.038 m3 0.60
FEEZ T BHO.28m3
SN D TEA S m3
FEEZ T BHO.28m3
SN A A 1.00 X 0.60 X 0.87 = m3 0.52
FEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PRIETIRTE IH (A 5 A s ] 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FETH Gy T. 44DT A+ WA
FEAB AP 0.60 —( 0.52 = 0.90 )= m3 0.02
FEALH T DT
FHAZ TAT7N PR 1.00 X 0.60 X 0.06 = m3 0.03
ZNE
TAT 7N 0.03 X 235 = ¢ 0.07

R @ K E &




T I # E ¢ F =
LA T (B E HME L) No,9-8
WA =  ©@-3 DIP$200 L= 95.2 m
Bt B = E i, d=0.95
R = 0220 X 0220 X / = 0.038
EHEE = X X / = 0.000
Im=247
% B E e Hof # & i =

ARG T
AsBTEER t=15cmEL 1.00 X 2 = m 2.00
LI T
AsBTEER t=10cmEL T~ 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
7P A FEET - 1.00 X 0.60 X ( 1.17 — 0.05 )- 0.038 m3 0.63
FEEZ T BHO.28m3
SN D TEA S m3
FEEZ T BHO.28m3
SN A A 1.00 X 060 X 0.92 = m3 0.55
FEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
PRIETIRTE IH (A 5 A s ] 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FETH Gy T. 44DT A+ WA
FEAB AP 0.63 —( 0.55 = 0.90 )= m3 0.02
FEALH T DT
FHAZ TAT7N PR 1.00 X 0.60 X 0.06 = m3 0.03
ZNE
TAT 7N 0.03 X 235 = ¢ 0.07

R @ K E &




T I # E ¢ F =
LA T (B E HME L) No,9-10
Wrigis& 5 = (@-5 DIP$200 L= 87 m
gt B = nd#E,d=1.20
R = 0220 X 0220 X / = 0.038
EHEE = X X / = 0.000
Im=247
% B E e Hof # & i =

ARG T
AsBTEER t=15cmEL 1.00 X 2 = m 2.00
LI T
AsBTEER t=10cmEL T~ 1.00 X 0.60 = m2 0.60
AT, BHO.28m3
7P A FEET - 1.00 X 0.60 X( 1.42 — 0.05 )- 0.038 m3 0.78
FEEZ T BHO.28m3
SN D TEA S m3
FEEZ T BHO.28m3
SN A A 1.00 X 060 X 1.18 = m3 0.71
FEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
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